Staﬂ'ech.com‘

Making hard-to-find easy!

RK2236BKF
Assembly Instructions

Frame Installation Steps:

1. Connect the front and rear frame with the 4 angled braces
as described below and fasten them together with the
M8*25 screws.

Place the covers over the joints and secure them with M4

SCrews

U.S.A. StarTech.com USA LLF, 6300 Commerce Center Drive, Suite E Groveport, OH, 43125 Phone (519) 455-9675 www.startech.com 150 8004:2000
f
Canada StarTech.com Ltd,, 45 Artisans Crescent, London, ON, N5V 5E9 Fax (519) 4559425  Toll Free 1.800.265184 M REGISTERED



Place the door bearing into the
mounting holes in the base of the
cabinet.

Door bearing
-
&

L)
"‘\-\.J_p'fll
B

Door/Panel/Base installation:

1‘hﬂﬁA
“___~=Angled corner
C

Staﬂ'ech.com‘

Making hard-to-find easy!

1. Screw the four feet into the base of the cabinet. Tighten

the lock nut to secure the feet and level.

2. Install the top cover using the M6 screws as demonstrated

to the right.

3. Install the bottom plate and fasten it using the M5 screws.
Notice: The cable management slots should be on the outside,

the plates have been cut to align properly.
4. Install the front door bearing into the hole drilled into the
base. Pull down the hinge at the top of the door and
carefully place the door onto the base bearing. Set the door

When installing the casters, insure they are
firmly pressed against the base before

Secure the top cover with M6 screws

Secure the bottom plate with M5 screws

; : securin
upright and release the top hinge. g
5. Install the rear with the same steps as the front.
6. Use the clips to attach the side panels. M5*10
M5*10
U.5.A. StarTech.com USA LLP, 6300 Commerce Center Drive, Suite E Groveport, OH, 43125 Phone (519) 4559675 www.startech.com P 150 8004:2000

Canada StarTech.com Ltd., 45 Artisans Crescent, London, ON, N5V 5E9

Fax (519) 455-9425

Toll Free 1.800-265-184 @] REGISTERED



